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¥ 308 - = = - = = - = = - = =
| g% 23,484 23,484 23,484| 23, 484| 23, 484| 23, 484| 23, 484| 23, 484| 23, 484| 23, 484| 23, 484| 23, 484
2 Fe 3,250| 3,250 3,250 2,440 2,440{ 2,440 3,300 3,300[ 3,300[ 3,300 3,300 3,300
3 FVF 1,520 1,520 1,5200 1,145 1,145 1,145 1,230] 1,230{ 1,230 1,230{ 1,230] 1,230
4 LB p 50 50 50 50 50 50 50 50 50 50 50 50
5 P& 100 100 100 100 100 100 100 100 100 100 100 100
6 Y 110 110 110 110 110 100 110 110 110 110 110 110
1 X G P 175 175 175 175 175 175 175 175 175 175 175 175
3 Eh 7y 400 400 600 400 400 600 400 400
9 ER 6,075 5,410 6,735 4,930] 4,870] 6,470 6,994] 6,989 7,658 4,617 5,092 4,689
10 ~PER 1,900 1,900 1,900 1,900 1,900 1,900{ 1,9007 1,900{ 1,900f 1,900{ 1,900 1,900

&3t 37,064, 35,999 37,324 34, 734| 34, 274| 35, 874| 37, 643| 37, 738| 38,407 35, 566| 39, 841| 35, 738
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¥ 308 - - = - = = - = = - = =
1 g3 23,484) 23,484 23, 484| 34,567| 34,567| 34,567 34,567 34,567 34,567| 23,484| 23, 484| 23, 484
2 3% 2,475/ 2,475 2,475/ 3,360 3,360 3,360/ 3,360 3,360| 3,360 3,250 3,250/ 3,250
3 #VF 955 955 955 2,970/ 2,970 2,970| 2,970/ 2,970] 2,970/ 1,520/ 1,520| 1,520
4| 11 50 50 50 50 50 50 50 50 50 50 50 50
5| RE R 100 100 100[  100[ 100,  100[ 100 100  100[ 100,  100] 100
6| #E&F 110 110 110[ 110 110,  110[ 110 110 110[ 110, 110 110
T| L% 5% 175 175 175/ 175 175 175 175 175/ 175 175 175 175
8| EKA T 600 400 400, 400 400 400
9| F ¥ 5,387 5, 862 6,017 6,033 6,230 6,336/ 6,168 4,820 5,349 5,650 5,720/ 5,701
10| ~7%7 1,900 1,900 1,900/ 1,900[ 1,900/ 1,900/ 1,900/ 1,900/ 1,900/ 1,900/ 1,900 1,900

&3 35, 236/ 35,511 35, 666| 49, 665 49, 462| 49, 568 49, 800| 48, 052 48, 581| 36, 639 36, 309| 36, 290
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| g% 23,484 23,484 23, 484| 23, 484| 23, 484| 23, 484| 23, 484| 23, 484| 23, 484| 34, 567| 34, 567 34, 567
2 Fe 3,250| 3,250 3,250( 3,300[ 3,300{ 3,300 3,365 3,365 3,365 3,360 3,360 3,360
3 FVF 1,520 1,520 1,5200 1,2300 1,230 1,230{ 2,970, 2,970[ 2,970 2,970 2,970 2,970
4 LB p 50 50 50 50 50 50 50 50 50 50 50 50
5 P& 100 100 100 100 100 100 100 100 100 100 100 100
6 Y 110 110 110 110 110 110 110 110 110 110 110 110
1 X G P 175 175 175 175 175 175 175 175 175 175 175 175
3 Eh 7y 400 400 400 400
9 ER 6,397 9,602 0,819 6,033 5,781 5,995 5,388 4,654] 5,613 5,638 95,910{ 6,755
10 ~PER 1,900 1,900 1,900 1,900 1,900 1,900{ 1,900] 1,900{ 1,900f 1,900{ 1,900 1,900

&3t 37,386 36,191| 36,408 | 36, 782| 36, 130| 36, 344| 37, 942 36, 808| 37, 764| 49, 270] 49, 142| 49, 987
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| g% 23,484 23,484 23, 484| 23, 484 23, 484 23,484 23,484 34, 567 34, 567
2 Fe 2,925 2,925 2,925 3365 3365 3, 210 3210 3,360[ 3,360
3 TV 1,980 1,980 1,980 2,970, 2,970 1,780( 1, 780 2,970{ 2,970
4 LB p 50 50 50 50 50 50 50 50 50
5 P& 100 100 100 100 100 100 110 100 100
6 Y 110 110 110 110 110 110 110 110 110
1 X G P 175 175 175 175 175 175 175 175 175
3 Eh 7y 400 400 400 400
9 ER b, 178 4,514 4,753 5,642 5,600 5,002| 5,500 0,442| 5,400
10 ~PER 1,900 1,900 1,900 1,900 1,900 1,900{ 1,900 1,900{ 1,900

&3t 39,902 34, 838 35,079 38, 196| 37, 754 36, 711| 36, 309 49, 074| 48, 632
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g7 23,484 23,484 23,484 23,484 23,484 23,4841 23,484
ey 2230 2,230, 2,230 2,265 2,265 2,265 2,475
Y 1,170 1,170, 1,170 970 970 970 955
LB} 50 50 50 50 50 50 50
P 100 100 100 100 100 100 100
N 110
T &Ry 175 175 175 175 175 175 175
EERLT 400 600 400 400 600
R 3,737 3,107, 3,879 3,984 3,423 4,165 8,106
~PEY 1,300 1,300 1,300 1,600 1,600 1,600 1,900
&3 32,646]  31,616) 32,388 33,228 32,467 33,209 37,955







